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2019
North Carolina FFA
Farm Business Management – Senior Division
Career Development Event
Section 1: Multiple Choice (100 points)

There are 25 questions on this section of the event.  Please check carefully to see that you have six (6) pages including this cover page.
Read each question carefully.  Mark your answer for each question on the provided Scantron form.  Each question is worth four (4) points.  You have 25 minutes to complete this section of the event.
1. 
This financial statement explains changes in net worth.
A. balance sheet
B. statement of owner equity
C. income statement
D. statement of cash flows

2. What could you do if the cash position in a certain month indicated that there would be more expenses than income?
A. terminate the enterprise causing the cash flow problem that month
B. switch accounting methods
C. move up sales
D. change depreciation methods

3. Three financial indicators that can be calculated from the net worth statements are liquidity, solvency, and equity.  Solvency is the:
A. ability of all assets, if sold at market value, to cover all debts.
B. ability of a business to generate enough cash to pay bills without disrupting business.
C. amount of cash received by a farm business in a one-year period.
D. amount of money that will need to be borrowed to cover expenses.

4. The price of beef is determined by the supply of beef and the demand for beef.  A change in price occurs when the demand for beef increases or decreases even though the supply remains constant.  Which of the following causes a change in demand for beef?
A. decrease in the number of cattle
B. increase in the number of beef cattle producers
C. increase in the cost of producing beef
D. decrease in the income of beef consumers

5. A farm business where it can be exposed to changes in demand and therefore changes in price that is totally beyond its control is referred to as being:
A. a price maker.
B. a price taker.
C. price neutral.
D. profitable.


6. Net farm income from operations for a sole proprietorship business refers to:
A. total market value assets minus total liabilities.
B. current assets minus current liabilities.
C. accrual adjusted revenues minus accrual adjusted expenses.
D. cash income minus cash expenses.

7. When a farmer writes a check for $5,000 to pay off the remainder of a machinery loan:
A. assets, liabilities, and equity each decrease.
B. assets and liabilities decrease and equity is not affected.
C. liabilities decrease and equity increases.
D. assets and equity decrease.

8. By dropping hay sales from a beef cattle operation, a producer becomes more:
A. specialized.
B. integrated.
C. motivated.
D. diversified.

9. When a farmer increases his investment in land, buildings, and equipment without increasing the total units of production, cost per unit:
A. increases.
B. remains the same.
C. decreases.
D. varies with the operator.

10. A farmer has determined that his total variable cost per acre for corn will be approximately $248.  His fixed cost per acre is $95 per acre.  If he is raising 2,500 acres of corn and expects a yield of 125 bushels per acre, what is his breakeven price per bushel?
A. $0.63
B. $2.40
C. $2.74
D. $18.52

11. On March 1, JD Farms borrowed $15,000 to plant soybeans.  On November 1, they repaid the $15,000 along with $500 in interest.  What annual interest rate was paid on the loan?
A. 3.33%
B. 5.00%
C. 7.50%
D. 10.00%
12. The present value of $175 that will be received at the end of one year, given a 5% interest (discount) rate is:
A. $87.50.
B. $155.00.
C. $166.67.
D. $183.75.

13. A grain combine can be purchased for $148,000.  Total annual fixed costs will be $15,000 and variable costs per acre will be $21.  If a custom operator can be hired to combine grain for $32 per acre, what is the minimum number of acres one should plan to harvest to justify buying the combine?
A. 468
B. 714
C. 1,364
D. 4,625

14. Which one of the following can increase the retained earnings of the farm business?
A. net farm income less than business withdrawals for family living expenses and income
B. net farm income greater than business withdrawals for family living expenses and income taxes
C. an operating loss for the accounting period
D. an increase in the amount of money withdrawn from the business for family living expenses and income taxes

15. A “limited” partnership in one in which:
A. some partners do not participate in management, and have limited liability.
B. the maximum number of acres is fixed by state law.
C. the number of partners may not exceed 50.
D. only limited enterprises are carried out.

16. Which of the following is an opportunity cost of farming your own land?
A. equipment cost
B. labor cost
C. eroded soil
D. potential rent

17. If the market is said to be “bearish,” prices are expected to:
A. increase.
B. decrease.
C. remain the same.
D. fluctuate greatly.

18. When determining the effect of growing more acres of a crop in an enterprise budget, the cost most likely to change would be:
A. operating costs per acre.
B. rent per acre.
C. crop insurance per acre.
D. fixed costs per acre.

19. Basis in a futures market is the difference between:
A. a cash price and a non cash price.
B. a cash price today and a cash price in the future
C. two different futures prices for the same commodity.
D. a futures contract price and a cash price.

20. The general economic term used to describe where and when buyers and sellers interact regarding a specific product is called:
A. a franchise.
B. a contract.
C. a market.
D. a partnership.

21. On an agricultural producer’s balance sheet, which of the following contains only current assets?
A. tractor, livestock barn, herd bull
B. fertilizer, breeding cows, truck
C. cash, corn silage, feeder calves
D. land, combine, growing crop

22. Accrued interest on a balance sheet refers to:
A. interest that is past due.
B. interest that has accumulated since the last loan payment.
C. interest on a short-term debt.
D. interest forgiven by the lender.

23. The most common element of federal government programs has been to:
A. lower production.
B. provide price support.
C. have a food reserve.
D. fund research activities.

24. Your ability to plan loan payments is best determined by analyzing your:
A. checkbook balance.
B. profit and loss statement.
C. projected cash flow statement.
D. enterprise budgets.

25. The goal of tax management is to:
A. maximize profit before taxes.
B. minimize taxes.
C. maximize depreciation deductions.
D. maximize profit after taxes.
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